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typedef struct Node{
int data;
struct Node xnext;
¥Node, *LinkedlList;




typedef struct Node{
int data;
struct Node xnext;
¥Node, *LinkedlList;

¥

typedef struct Node{

int data;

struct Node *next[3];
} Node, *Tree;
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IB: Performance would benefit from a reorganization:

(1) Allocate all children of a node within a single block.
(11) Keep all u stats together, and all amaf stats together.
Currently, rave_update is top source of cache misses, and
there 1is large memory overhead for having all nodes separate.
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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